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The 'Classical conditioning theory of learning was propounczcd by

(A)  Skinner ' (B) Pavlov

(C) ~Thorndike ' (D) | Kohlberg

AR T AR Fewm fasr et Teram &1 - s
) R (B) | e G

() IR ECT Ei (D) h maﬂ e

Cause of juvenile delinquency is

(A) parental conflict

(B) sympathctic behaviour of family members
(C) working in family with mutual consent
(D)  wealt hy family

STo-STILH 6l a?rm &

(A) ~ HTE-{oer | ok

(B) UER & |eei 1 Wt sgferol LR A

() URER H = wenfa @ FH e &

(D) T9% AR L

‘Which “of the following has been ignored in children’s Free and Compulso

Education Rights Act, 2009 ?

(A) Facilitate training of teachers
(B) Ensuring entry of roaming boys
(C)  Defining Academic € a!(‘ndm

(D) Arr angement of education after 14 years

STeTehT h TR g S e SRR afTEE, 2009 H 5 =3 g W .
CEURIE] 3

(A) uTVIIT-["—T T TR t{ﬂ‘ﬂﬂ e T |

(@) HA S & 3 yevt &l GRSl

(C) trcrgnrm oty o Fuiie
(D) 1499 & SR foreqy e

‘Which of the following steps makes rescarc h. action research ?

(A) Construction of sub-concepts
(B) . Programme implementation and evaluation
(C) Generalization

(D) Review of Literature
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(A) U ST A (B) meﬁaﬂ?q&wx

EejtatE eyl (D) e <1 G

(C)
are nccessary in obsewahonal

According
' iearning. The right sequence o

to Albert Bandura, four conditions
f these condﬂmns g

(A) Motivation — Attention — Retention — Reproducuon

(B) Attention — Motivation — Retention — Reproduction

(@) Attention — Reiention — Reproduction — Motivation
[D) Attention — Reteniion — Moftivation — chroduchon

Wm&f«‘WWﬁWWﬂW

WW@WE
SR — S e — TR

(A) .
B) IEEM — =PEl — =R — TP
(C). . FASH YRIT — ::?ﬂ:ra‘rf__aq:ﬁ—(crn

(D) SIEFQT;T gRUm — = y"(UH gocais s
d, which method is most appropriat
ind-?

Dream analysis

According to Sigmund Frea e for identifying
the characteristics of unconscious m

(A) Case study (B)
D) Interview

Wﬁ@ﬂaﬁrwﬂﬁwwwmm

(C) Sociometry technique

SIS ThITE h S a0 o1
FA-A1E ?

(A) OETche-HEES o B) e T
(©)  wEf ae. D) WETEX
A.D.H.D. Imeans
a) . childl;ez} with speaking difficulty
(B) children with hearing deficiency

o

(C) children with _ci:isorder of attention

(D). children with visual impairment .

(A) ar&l%a%;n%amam B3 ST GeiecT] el ST
o TR dd Sies (D) ez S S

% (C)
(/ !NDIRESULTE indiresult.in whatsapp - 93520
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() it (D)  WfEcd 1 GRIET

According to Albert Bandura, four conditions are necessary in observatioﬁal'
learning. The right sequence of these conditions is

Attention — Retention — Reproduction

(A) ~ Motivation
(B) Attention — Motivation — Retention — Reproduction

(C)  Attention — Retention — Reproduction — Motivation

(D) Attention — Retention — Motivation — Reproduction

oS AU F SAER SeEvics S 3 OR AR SeREeh gl
(A)  STTROT — s — SRon — TocIsT

(B) 3T — FEn — S — JTocsH

(C) - SO — SRUN — Seeed — RO | .

-

(D) S — HREN — S — JFocle <
According to Sigmund Feead, which method is most appropriate for identifying
the characteristics of unesnscious mind ?

(A) Case study . (B) Dream analysis

(C) Sociometry technigue (D) Interview

(A) HEH-FEEE B) @ faven

(C)  THSIHI e D) IRITEHR '

o b MR Ll 8

A.D.H.D. means

(A)  children with speaking difcuity

(B) children with heanng deficiency

(C)  children with diSorces of attention S

(D). children with ViSUSt SEREeS===cnt

(A) S oS Siet SNE) SEU e S STef | |

_* () uF foER el S D) SRzl 3l ST |
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A test de swncd to reveal a pcrson s strength or wedkness in one or more areas is
called
(A) 'Rumcdial test _ - (B) Diagﬁostic test
(C)  Achievement test (D) Formati\re test

Wwwwmwmﬁrrm Wwﬁwhﬂww ¢ Sl ol D
_ 0 3 Tor SemET TR §, hectl ©

(A)  STERIHS TRIEA0T (B)  FEHIHS e A0
() = 3hE S udieror (D) . THAICHSD W~

By which constitutional amendment the '"Right to Education' was added in the

Constitution of India ?

(A) 86th ‘Amendmem.' : (B) 74th Amendment A

(). 89th Amendment (D) = 9lst Amendment

e G o WH ot 5T e T SRR qferfera fomar T 2
{8y 86 a7 geIe . B) 74 A

() 89 GeIE ). 91 df HYEH

Child centred pedagogy means

(A)  asking the children to follow and imitate the teacher

(B) letting the ﬁhildren be totally free

. (C) —~ giving moral education to the children

(D) givim, importance to children's voices and thelr active paruelpdtmn
e e Toreror fofel <1 o1 ®

(A) Wﬁma%mmwwamw:rﬁwarw
(B) Sl f{PT w9 § A= ST
(©) Sl i Aeh Rl GGl
(D) aﬁaﬁaﬁmﬁﬁmmmwﬁﬂ%ﬁﬁ st

-~

‘Raven Progressive Matrices are used to measure :

(A) 'P(,ré;onality : (B) Learning
(C)  Intelligence (D) . Creativity _
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23. According to Vygotsky, children learn. L & et e

(A) o by' imitation _ . _
i) _by interacting th.h aduh}s and peers _ e
: (C] ._ .' whcn reinforcement is uﬂ'crcd — .

'(D) by maturat;on i e oh - ' jl (R : il it
SRR AR Wlﬂaﬁ% ; o e '
A ST s e e
o aﬂwﬂmmaaﬁﬁa?wwﬁmﬁ ~ e
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) Spearman (D} Cattefl
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25 What c[fort shquld a tcacher make for the upliftment of Glftcd chﬂdren ? — oe - ! ;

T AP St . 1 e

R - - .

GV Slow to tleach (B Speclal classes and motivation .

(C) Punishing them = (D) Ignonng t_hcm L
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(A) Logu:al th:l_n_km_g B (B_] Vocanonal ck I 0
AC) Mcmory e (D) - Learmng ro
_Hﬂ%ﬁ@ﬁﬁ@ﬂﬁ?ﬂfﬁﬁa‘ﬂwaﬁ% g

. ___(A) s feRE . (B Eqmm
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. .29': - Which of the foﬂowmg is not a psycho motor actml.y >f a

(A) Thinking (B)  Writing

(C) Throwing. aball (D) Playing
"'ﬁﬂﬁflﬁéﬁﬁﬁwaﬂ'@?ﬁmmﬂﬁ

(A) @W ) %IE:IT 28 3

o ﬂﬁﬁ-ﬁ—n i Ea

30. . Who gave 16 P.F. queonnnalre :t(')' -allss'efés. persenahty Z .

'(Ai : Gérdc’m All'po'.rt_' ; (B] 'Shelcion

(C)  RBL Cattell e _ : (D) Sprenger .
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SECTION - 11
LANGUAGE - I
ENGLISH

0 guestions in all in this section.

All questions are compulsory.

31. Dr. West’s ‘New Method’

of which of the following method

5
of teaching English emerged to overcome th
P

(A) Grammar cum Transiat:

(B)
(©)
(D)  Situational method
32, In

interchanged ?

Direct method

which  of {
(A)  Simple substitution
(C)

Which of the following is

W
(@3]

(A) It teaches ways of ex

(B) It ignores grammar and str

(©)
(D) I
34.  Which of the followine IS
(A) Exposition
(¢
Which of the followin

Its practical utility
I

V[

W
i

']

(A} Gramophone

(C) Telcvision

the followis

Complex substitution

It is not properly and

Substitution method

types of substitution the variables

(B)
an advantage of Communicative Approach ?
ression
Hctures of our languages
t to be awaited

sSentifically developed as yet

Compound substitution

cannot

(D) Grammatical substitu tion

elated to the mental development of the learner ?

(B) Imitation

(D) Comprehension
a=visual teaching aid ?
(B)

(D)

Flannel-board

Radio

36. Which of the following structus
(A)  Why didn’t you told me that 7
(C)
37. Which of the following structures
(A)  Will be they arreste s I8y refuse fo leave ?
B) Will they be arrestea & they refuse
Will they be arrested il
D) = Will they ‘be arreste

(#)NDIRESUL

M
f

I & guestion is correct ?

!

(B) Why you didn't tell me that ?
Why didn’t you that tell s 2 (D) Why didn’t you tell me that ?

of & question is correct ?

T PN
0 ieave

¢ limitations
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45,
46.
47.

48"

ema . @womsuas

e thc habit Of stealing, neglcc g lhelr stuches slipping out of thexr

classes ... .’ Underlined words in this part of sentence are used as
(A) main verbs ': (B} _ con_}unctmn |
(C) gerunds = 5 D) adjectwes
Which of the following has a possesmve pronoun in it 'J
~ (A) Bad things in the children _ (B} Faults of the1r chlldren
: (C). They would correct the faults {D) Whatever the case
“True 6 or F‘d_lsc answer type guestion i Is a type of..:...;*.._.,.. question.
(A Ess_ay type. o . B Objeétivc type
HC) Déscfiptive- type = ' {D) Short answer type
Unit test is an expmmg' . evaluatlon
(A) normahve = (B) _eﬂ”ectivc
- (©)  formative _ D) _éoﬁa‘rivé :

~ Evaluation is a process of

(A). Ascertciinjng the 7, value of outcomes

(B) Determining the e@ of the achievement of ob_]ectwes

: (C) Comparmg the om of i mstructlons

49,

50.

81

(C) - Text-books cannet &
(D) Material aids are ased

Q) It facilitates sel

(D) All of these L

W}uch of the followmg s 2 disad antage of Sltuational Approa(.h ?
[A) It creates interest n teaching

(B) Tt is action based approach A

I not m by this method

The texl books help he s ich of __fhﬁ following ways ?
(A) It makes the
'{BJ It checks the fte

(D). 'All of these
In which of the folle
(A) Thave ou
(B) I have lost ¢
(C) I have ncver bees
(D) “& have admitted &
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In which of the following methods of teaching English language Inductive a

Deductive techniques’ of teaching are used ?

(A) Grammar cum Translation method
(B) Direct method :

{C} Substitution method

(D) . Bilingual method

Whrch commission in 1948 accepted the importance of English language in c
curriculum ? : : - &

(A) Dr. Radhakrishnan Commission

(B) The Secondary Education: Commission

(C) Central Advisory Board of Education

(D) Kothari Education Commission

Who of the following proposed Listening-Speaking-Writing-Reading order
teaching for learning E nglish as foreign language ?

(A)  E.C. Kitison (B) Robert Paul
(C) . J. A, Bright ; . (D) P. Gurrey

Which of the following approaches aims at teaching English by cstablish
thorough drill and. repetition of about 275 graded structures ?

(A)” Structural Approach * (B) Situational Approach

.(C) . Bilingual Approach (D) Communicative Approach -

Which of the following prefixes can be used to form the opposite of the w
Tegal’ ? ; : :

(A) il- - (B) -dis-

(C) un- : (D) » im-

Correet one word for “That which never fails” is

(A) unfailable = (B) N failable

{C). unfallible (D) infallible

Which of the following has a correct structure of a question ?

{;‘\}. Does Ann hasacar? = (B} Does Ann have a car ?
(C) HaveAnnacar? ° (D) Did Ann has a car ?

Which of the following is correct ?
(A) T hope he'll sueeeed at his work (B) 1 hope he’ll succeed on his work
(C) I hope he’ll succeed in his work - (D) I hope he’ll succeed for his work
Which of the following is correct ? .

(A): The old car moved much more faster than the new car

(B) The old car moved morc faster than the new car

A ?} The old car moved much faster than the new car

(D). The old ear moved much more fast than the new car
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61. Remedial classes pi=

(A) society

)
>

62.  An important feature of

(C) it enhances learnine

( Q..Nos. 63-65') :

'l

“The wind lies asleep @ t8e arms

Like a child that has cr=

.
2 _
o« (#momesuLta
SECTION - III '
LANGUAGE - I
ENGLISH
guestions in all in this section.

guestions are compulsory.

mportant role for
(B) bright students
(D) intelligent ones
evaluation is
(B) it is diagnostic

(D) it harasses students

of the dawn

63. The second line is 2an exsmple of

(A) Simile
(C) Personification

64. ‘Mctaphor’ is defined as
(A) . far fetched simile

(C} - covert simile

(A) Wind

(C} Night

66. - Blank verse is iambic g

(A) without rhyme
(B) with rhyme
e

. ‘ia
(L) with

(D) without alte € T

QLWW LTE

alternate rhvess

(B) "Metaphor

(D) Alliteration:

(B) implied simile

(D) explicit simile
on in the above lines.
B) Child

(D) That

— indiresult.in whatsapp - 9352018749
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“An clegy’ is

(D)  a marriage song

(C) Medieval drama (D) Melodrama

% :

2 (%)INDIRESULTE™*
/ YOUR SUCCESS PARTNER

‘O wild west wind, thou breath of Autumn’s being.’

The above line contains

(A)  Personification and alliteration

(B) Simile and alliteration

(C) Personification and simile

(D) Metaphor and pers.(miﬁcation

(A) ajoyful lyric
(B) a poem on death of someone dear

(C) a sonnet on nature

The speaker / narrator in the Pastoral elegy is

[A] a musician - ' _(B)_ a shepherd

(C) a painter ' (D) | a sculptor
A is the rhyme scheme of the English sonnet.

(A) abab, cdcd, efef, gg . A (B) abab, abab, E{bc, cde
(C) abc, abc, def, def, gg (D) abcede, abede, efef
The drama that developed from religious rituals was I

(A) Classical drama : (B) Elizabethan drama -

/'beri/ is the correct transcription of
(A) beri _ (B) berry
(C) bury . (D) beary

‘Exist’ is transcribed as

(A) © /egjhist : : (B) /egziest/

(C) [egust/ (D) /[lIg'zist/

The correct transcription of ‘virtue’is indiresult.in whatsapp - 9352018749
(A) /warchu:/ ' (B) /Jva:tlu:/

(C) /vert]u:/ (D) /wa:thua:/
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' 83.. Measles ... [ an infectious discase. '.{/, IND'RESULT
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is
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(A) . are _ : (B)
(C) will (D) have
84. My friend and his father=.u S meeting us tomorrow.
(A)  are (B) is :
(C)  will ' (D) ‘have
85. The fisherman cast his net fof tWo whole days but ... . . not get e—:\good lot.
(A). can (B) " might '
(C) could Dl ay
86." Ravi’s uncle guided him how he ek gilo e IEifo,':!'I'lpi his'test.
(A): can (B) " should
(C)  may £ (D)  will

87. Flying in the face of means
(A)  respect (B) . pray
(C). reward ' (D) insult

88. By fits and starts’ means

(4) - not fit to start . (B) - good omen
(€) ‘not regular (D) speedily

{ Q. Nos. 89.9¢0 ) : Read the following Passage and answer the questions :
‘Waltching television for a'long time could lower academic performance. It ‘steals’ away
the recading time. Time management is about self-discipline. Time must be managed

between filled and unfilled time.’

BO may be an appropriate title for the given extract.
(A): Discipline (B) Self-respect \
(C) Timc—mqw.wgcmc-m (D) Television

His father never starved, but he couldn’t cast any doubt on the story. So he had
to make an effort to hold his tongue.’

90. The linking devices used in the aboye extract belong to

(A)  concession and contrast (B)  opinion and purpese
(C) condition and adding ideas (D) contrast and consequence
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In this Sect_iun, there are 2 sub-sections i 2. IV(a) Mathematics and Science and : f
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple - choice Questions
cach., ; _
The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.

T @S A 31 3YEUS HYl v a) VTS ST fa=T Ue 1v(b) Wrfe sreaa ¥ o
Y@ an T 4 60 Sgiashedd 99 & | _ |
ORTeqTeT IV{a} T Jeor faEE Fuer v IV(b) W reaae, H“’Ll TR T AT

SEH-9 1 v 8, 7§ el v sum I T & U T 60 Tt T IR 41 &

oy

SECTION - IV(a) / @ - IV(a)
MATHEI\L—XTICS & SCIENCE / TI{uTeq aer fasm

There are.60 gt all I8 this section. The candidates who have selected this

SL hlJt_( must

~

=SS A S [OYY T BT € 3% O W ST

Sharat Mission 20 vohinteers can clean their village in 8 daw,

DEESRed in 5 days, then how many wluut{,u&, will be
(A) 20 B 32
(C) <3S _ D) 30
W YRA H93H = o= 20 =EuTs “T' Wrr f[ 8T H w@' Y. §Fdl §1 g
-_———-—'_-—-_"‘--__

(A) 20 \/JQ - }07)4 Q2=
(C): 15 D 30 '

92. Partha moves from sRumhuan 88 Jodhpur by car to reach in 6 hours with an
average speed of 60 Em Bour 8at will be average speed while returnin o if it
o s

: 1
takes 4:,')— hours ?

(A) . 80 km/hour B 70 km /hour
(C) 90 km/hour D 60 km /hour

U R ERT S | Sy 60— =92 S HET 91 ¥ 6 52§ gger ¥ a9y
oo wa BR BRIl SIS 3¢ 42 woe o ) ‘

W/SO' ferHt/Ee] B 70 f/gve
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100. Important characteristic(s) of Textbook of Mathematics 1S /are

(A) - Subject matter (B).  Language and s tyle
(C)  Form of Textbook (D) All of these

TIOTE Sl ATSSIReTeh it Heeayut fagtsan 0) B/2

@) o e (B) 49T T Wt
©) & Ff ol D) T Y G

101. Chemical formula of aluminium sulphate is
(A) ;'"xi,)SOd_ (B) AlL(S0, ),

(C)  ALy(SO,) D) AlSO,),

4'3
U Tehe T TR

(&) = AlL,SO, o o (B) Al (SO,), .&*
(C) AlL(SO,), D) - AlSO,),

102. The metal having lowest melting point among the following is
(A)  gallium (B) bismuth
(C) antimony (D)  arsenic

L e D TN o s T T e ey i
MHEIAET H 8 999 5 e g gid b
(A) Tieigg (B) IHEY

) AR D) it

103. Colour of phenolphthalein indicator in alkaline medium is
{A)  white : (B) pink
(C) yellow (D)

W = S g a2
@) whE - (B) Tt

light green

(s} -
(C) Hien (D) Bkl BT
104, Which of following synthetic fibres is a4 polymer of ethylenc glycol and

terephthalie acid ?

(A) Arlon Dacron

(C})  Nylon (3] Rayon '
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(C) OIS 99T (D) TR ST A
2I10:.: JIn . scierc c cac g, wihiic type Iearning should be planncd afte ignnosting
the learning altie By ents ?
B)
J)
= HERE TehIT oh T97eq0T
(C;  g&q TJrA—“ (D)
111. The site of ization in human female is
(B) Uterus
(D) Qvary
.9’/
(D) . ASIRE '
\ \—/"‘
L1225 t common mode of asexual re
1.1
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Ay 99 WE (B) TEEU
(C) AU . (D) ST H MR
115. " Which of the following is known as '‘Birdman of India' ? -
' (A} Salim Ali (B) A P.J. Abdul Kalam
(C) Homi Jehansir Bhabhe D C Y. Raman '
 Fietes | 4 imes mhe S sy ST H A AR 2
A I\ = == (B) T UL, KA FHod
(C) e SEriix S D) & W

116. Fuse wire works on the basis of _
: (A)  magnetic efiect ofcurrent (B) - chemical effect of current
(C) . thermal effect of current (D) electromagnetlc mductlon

(A) ORI TS Aae (B) URT HT UIEME T

(C) UKl S=HFTFHE ~— (D) %qaamﬁaﬁw
117. The escape velocity for any object on the Earth is

(A) - 12-1 km/hour - (B) 121 km/sec

- (€} 11-2 knfhour D) 112 km/_.sec
(A)  12-1 st He B) 121 fheliHiet/qehs —
(C) - 112 TheiiHice /=t D) 112 e /Ao

118. A device used to store documents or pictures available on any paper 1nto dlg:tal :
: memory of computer is : :

(A) OMR B) Secanner

(C) . Plotter D) MICR

PITST 0T ST SEIsi el faat =l =eeY. o1 fefvee ﬁ?ﬁfr ﬁ FPJ%?[ aﬂfr % fom
37T 1 anr STl i & .

(A) T SR (OMR) =

€)= T S T A (MICR) &

B)

D)

119. Sbis the symbol for the elem :
(A)+ antimony - 8] seclenium
(C})  strontium ) tn

Sb [T T &7 Tt & 2

@) Wt S
“C EiRmg %?

PTO




T T TRT———_

'8 T ——

indiresult:in whatsapp - 9352018749

ol

120. Compound among the following is

()
(©)

ot & 9 i &

(A)
(©)

121. Which of the following features of

diamond
ozone

n

ERT
CISIE]

50

B)
(D)

(B)

D)

(A) Language complexity (B)
()5 l_Jniformity of language (D)
fore o Frerfeiad 3 2 S-dt Rt
(A) ST I e - (B)
(C)" TSI = U o

122. Through mathematics teaching,

following emotions ?

(A)
(C)

T Rredor & arem & g

Logic

Thinking power

e & S 2

(A) = THIIE S

(©)

(B)
(D)

(B)
(D)

123. What is the method of matﬁcmatics

unknown to known and in wh
Synthetic method

(A)
(€)

Project. method

(B)
(D)

TR o<
ST

mathematics makes it a global subject ?

Bi"evity of language
All of these

S U A fong s o

ST I Fiawar o
TH AN o

children develop skills to control which of the

Self-confidence
All'of these

ﬁﬁmﬁﬁmﬁ-ﬁwwﬁmﬁ W@ T HRE

TH TR A

teaching in which the move is from

ich the tendency to search is encouraged ?

Analytic method
Laboratory method

nﬁm%&mﬁﬁm—ﬁr%%%ﬁmﬁmﬁaﬁvﬁ%awwm
I TG i e e & 2 | '

(A)
©

o e

(B)

(D)

r:‘ 59 | S ! \/

YGPTRITeT ferfy

The community objective of defining mathematical terms 18

(A) - Cognitive (B)

(C)  Practical o (D)

TfoTeier W oAt aRsife et =

B) TR e (B)
(D)

@morssin

—-—

Emotional ,,4
Functional /A .

HESTEa 32 &
Tefeh
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125. .............. is neeessary to find out mathematical errors in children.
(A) Remedial test (B) Diagnostic test
(C) - Oral test (D) Nature test

G| LT T e 9;':,-_:' ST 55 T E &.-N R ICEDED %

(A) STERES e B) i e

(C) Hilgs guse D) .. @YEUdeor 98
126. Denominator of & rational number exceeds its numerator by 8. If 17 is added to ;

the numerator and is subtracted from denominator we get thé rational
number :‘ , then the rational number is

R 21
w35 B
TR I
€ = (D) 13
U 99E 559 St e 2= 39 9 8 A ¥ Ak s d 17 A W AN WA E.
1 5211 9% 9eE 8 = o el €, 99 ool e d

2 Sl g U f}}::é

1. 1_7'_ : I 3 = SRR,
o B E. - g =
N ) e 9ABY
) = (D) EH\ :

127, The smallest square number which is divided by each of the numbers Z_r
7,14 and 21 is AL 2}52,,
(A) - 98 B)] 1764 L@ /@7 :
() 394 ) 2056 ' VA (56
52T | BISI 1 G =i el 7. 14 174@ m g ﬁw&raaﬁf% g '
[C) D) 2036%\ S

128. Thexal&g‘\i + Y(0-000343) is

Y

[O 0002186,
-{A) 10 B) 0-01 R 7 [ I j‘:

: 9 oL
(C) 01 D 20 1. ST A
) - | OW 0 ¢ 1

+3(0-000343) | == = oE VI

fe & 001 zﬁ?%\
2 220k D) 2-0 ’_Tg 9,
@// NDIRESUL indiresult.in whatsoapp 935201«87433—%,#%
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129, Shankar took a loan of Rs. 25,000 for purchasmg a machine. How much amount

will he repay after 1 year 6 months at annual rate of 12%, when interest is
accumulated annually ?

" (A) Rs. 25,850 (}3} Rs. 27,680

(C) Rs. 30,000 (D) Rs.29,680
YT HYT EXEA % felw 25,000 Fo S0 ol 2| 58 19y 63:[T%’Eﬂf-' 12% =i &0
q ToreHT o eeET u’l@tlch AT ST HAST Bl %’ VoA

\J

(A) "25850%0 (B) 27,680 %0

(C) 30,000 To . (D) 29,680%%

. Rajan purchased two ceiling fans at the rate Rs. 2,500 each: Out of which one
fan was sold at 15% profit and other was sold at 8% loss. How much proﬁt or
loss percentage is obtained in the whole transaction ?

_ A Beb Yo JOSS B) 7 % profit

(€} 3:5 % profit : (D)  1:5% loss SR
TS 1 B 98 2,500 To Ul §E H X § TN ITH W UF TE@ I 15% Y R
T 1 8% BT H ST 56 W A Fper sfe o s EEs. 2 o sohS

(A) ' 3:5% @I ; (B) 7 %M

(C) 35 9% & (D) 1:5% B

“131. A tank of 30 metre long, 20 metre wide and 12 metre deep is dug in ja
rectangular field of length 588 metre and breadth 50 metre. The earth sand so
.dug out is spread evenly on the réemaining part of the ﬁeld The height of the ield
raised by it is :

(A) _25metre , (B)  2:'Scm ' _ e :
" (C)  2-5 metre (D) 25cm

| J? 588 HIEX ¢ AR 50 HieX WS TH SRR @ H Teh 30 Hlex &I, 20 Hiex el
”]97 T 12 HieX TR T RIS € |, §9 UER BT 2 Fret T e qmw@ﬁas
X 'mﬂmn@wwqﬁwﬁmw%wﬂ@@ﬁﬁaﬁ@mmﬁ /

(A) 25 HEX : AB) 254

(C)  2:5H[X (D) 25%¥HET

132. Dimensions of a cuboid are 60 cm x 54 cm x 30 cm. How many cubes of su:le
,g\ 6 cm can be placed in the cuboid ?

\Sj\ _\-”fm 360 _ (B) 2700

. {C 450 (D) 300
indiresult.in whatsapp - 9352 B — ﬂz?"
ﬂm%ﬂ%ﬁwﬁn ey
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(A) 360 gy | (B) 2700 - ; ' /@‘
(© 450 (D) 300 | SR

* 133. For the following' ﬁ'equenc_y table, the number of persons whose weights are less
. :than60kgls AT ' . :

Weight (kg) 40-45 | 45-50 5{};55 ' 55-60 60-65 65-70_
| 'Nurhber of : = . ~ SR HTOE
persc__ms £ _4_” ¥ 5 , _- 10 : : 74 i 6 8
(A) '26_"' : -. % _-'-.'.;_....\'.—, %e (B)21 :
i B S T
| (@) D) 32

'#\%ﬁgéammm%m ﬁOiﬁ?ﬂTﬁWW%ﬂﬁﬁﬂ‘fﬁﬂ@f%

‘HT{ (ﬁTﬂT) 15 4045; f 45-59 - 50—55 95-60 | 60-65 65—-‘?0 '
mﬁmﬁﬁm B | 10 o7 e |8
26 D B) .21
©° 29, D) 52

134 Followmg pie chart represents e;penses on different items in construction of a

_ room. If total e ion of the room are Rs. 2,00,000, then how

(A) ‘Rs. 10,000
*(C) Rs. 60,000

INDIRESULTE
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135.

- (C)

5‘4_

T % = R & o o et o e ) et &1 o % B

%zoooowowgaanagﬁwﬁmmmwwﬁ? =
Zo | o
= Zo St )
i > T :
WE'T 36° . - 4
971
= 560

10,000 %o

60,000 %o
A bag contains 15

() (B) 50,000 T
(D) 40,000 Ho
red balls and some green balls. If the probability of drawing a

green ball is =, then the number of green balls is

6’
(A) 5 B4
(€) .3 By 2
Q‘eﬁ%{ﬁ ISWWWWﬂﬁﬁTi%’IQﬁWEﬂWE{fWWﬁWW % &T/SZ
. &t A o e ¥ o
4 s B 4 =
ey 3 oy 2 | =
% -5 12
136. The value of £ x?s is : 4 X -
625x67 " _ =
A) 25 (B) 5 W
_[©) 125 Dj - 625 / -
-5 12 : 2 -
(30) . XS_ HT A &
625x67>
(A) 25 8 5
(C) 125 = (D) ' 625
137, If (6)2**1 2016 =36 then the value of x is
(a) 1 (B) 2 T ooy
€ o (D) 05 4 |
A (6)2% ) 1216 =36 T x FTHE
QZ%H
(A) 1 (B) 2
. 08
(1’ INDIRE., H!'T NER /LD indiresult.in vtlr/‘atQa
o nlwmunmmnmmm ¥
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I38. By subtracting —5x° = 79> - Sxy from 3xy +2y2-2x? we get the expression

A)  7xy-5Sy’+3x" B) —7xy+7y%_3x2
- AC) Txy+Tyt3x" D) xy-9y2-7x?

3xy+2y%_2x2 B W S22 +7y° - 4xy & HeH WY U 5‘3{?@1"%
(A) 7xy-Sytsaxs B) - 7xy i 7y%-3x2
C) Txy+ ’Tyz +3x% (D) xy — 9y2 s T4 2

139. Factors of expression Sa® —8ab - 2052 arc | T
(A)  (3a+5b)(3a—5b) (B (3a+5b)(3a-8b)
(C) (3a—5b)(3a=-85) D) (3a+8b)(3a-8b)
ST 9a? —Oab— 408" = WEmETS &
(A)  (3a+5b)(3a—58) B) (3a+5b)(3a-8b) :
(C) - (3a—5b) (3a<asl D) (3a+8b)(3a-8b) 5

140. The value of (xg +7Tx+0)=1x+2) is rr)(TQ, .8 f L«
(A) . (=+1) (B) {2t 3) : :
€ (x+2) - +lo
(x2+7x+10)+(x+2) T & : ' %}?{’(,{T
(B) (x+1) B) (x+3) B
(C) (x+2) B (x+5)

141. In Si unit system_ pasesl & the unit of
(A) pressure i8] " work
(C} -energy {D) power
did(f'_'ir_:.-a S5 Sa S S e T § )
(A) T et | T

O o vt ; .
142. Method of heat Sransier By which heat emitted by the Sun reachea the Earth is
" (A) convection B conduction

(C) radiation Dy convection and conduction both
S T F 1w 9 20 = = e S g Hawgaa')r% ?
(A) ST 8 T '
(€ Fafeo v B ST SR e Sl

EEmirrors which are kcpt at 60° with each
will be
a

143. An object is placed betwees
: other. The number of imase
(A) 3

: ‘indiresult.in whatsapp - 9352018749
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TER 60° % IV T T 2 Goeer QU & W U o] @ ¥ T et s
HI W= A ik

A (B) 4

(C) 5 BT

4. Loudness of sound is determined by ............ Vi of sound.
(A) - amplitude (B) frequency
(C)  pitch (D) time period
&S el e B/ e, g iR st STl
() M B egh -
(C) Hoa . (D) 3T et

5. When an object is placed in front of a concave mirror at its centre of curvature

6.

o

‘the image formed will be

(A)  real, inverted and smaller than object

(B) real, inverted and equal to the size of object
(C) virtual, erect and smaller than object

(D) -.virtual, erect and equal to the size of object :
w18 fordt % Sl e JUUT & HET ITF Tkl S U @1 ST 8, . S gfafas

BT

(A) TR, 36T IR g% ¥ Biel

(B) - SIR<ieeh, Ie72T AR FK] o G391 oh SR |
[}
!

(C) ST, Her 3R o7 & Sier ~

sl s SEC e et el
(D) HTH-EI, HE AR 9% & HiSs] o S{TE

The disease caused by virus is
(A)- Typhoid (B) Malaria
(C) - Rabies (D) Diarrhoea

=

FERE A= T ©

(A) ZEHES B) ToRar v~

(©) ST - g (D) FE A
Yeast ( Khameer ) is an example of

(A) Bacteria (B) Fungi
(C). Virus (D)  Algae
T (FHR) U IZEIT &

(A)  STEm 6T 4 (B) ~ hah o
(C) ~ Torsmoy &l (D) . SrErer H
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WhICh of the fo]lowmg is-a cold habltat plant ?

_{A} ‘Hydrilla e R Bamboo

© oOpunia - T TR Soldancla ‘

ﬁm%f@aw@ﬁqwﬁamww% L
msé\w el ..'(B)' w b

o A D) W

- Match the followiﬁg :

(©y
(D)

D. Which is the largest gIand of human body ?

5 d ha
f D e
L. d e
a

B
Ran
U“m Lo R )

_Salmonella typhl _

: "-.E-I-Vancella Zoster: -

' Bordetella pertusis’

2 Mycobactcnum tubcrculoms

I

1.. Tuberculosis
2. Typhoid _
g Whooping.cough
4. ' Chicken pox :
The correct 'aﬁSweri_s g

e ot

(&)

b}
h.__o_- 0T ow

e
B
'd._ :

(A)  Liver LR G Pﬁz_xcl:eas
(C). Adrenal - (D)  Thymus

.Wwﬁmﬂtﬁﬂﬁlﬁ?ﬁg 2 ' "'A’..”_:i__-'l--

579(a
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58 | - STL2
' SECTION' IV(b) / @S - IV(b)
SOCIAL STUDIES / TS aeaaT

There are 60 questions in all in this sectmn The candidates who have selecied this

_subje

¢t must answer all the questions

_.sﬂ@v@ﬁweowr%jﬁnamﬁﬁ%w%waﬂwm%wmw—m

W%i

91,

The question- answer technique can be quite effective in teaching seeial science
as it ensures ! '
(A) _ students’ abillty to respond better in cxammatlons

" (B) students come to class well-prepared

(C) - active parﬁc:patlon by learners e

(D) - a more d1scxplmed classroom

. wﬁﬂ%ﬁﬁmwﬁzsﬁm$ﬁ1wﬁaﬂﬁwﬁﬁﬂﬁaa@faﬁwm'
Edl g TR

(A) fﬁmﬁzﬁraﬁqﬁwﬁaﬁméﬁaﬁm

_(B]I ﬁawﬁmwﬁa?aﬁﬁaﬁ%mm%

92.

93.

.94,

Tt gmr wftra wpfisrt
(p; U e SRTIfE e

The word ‘Assurance’ is used for

(A) * Life Insurance . SIB)  Fire Bsurance
'_ (C} Marme Insurance : (D) Medical Insurance
(A) Fﬁaqiﬂmé?ﬁﬁ - B A e
€ gt E oy (D) Tuferea e & ford
Which of the following sctt]es the consumer disputes at district level ?
(A)  Sessions Court - (B) . District Court
-(C)  District Forum ' : (D} District Collector j
mwar@aﬁﬂﬁﬂwwwmﬁmﬁwﬁwv?mm% ?
(A) T e (B) e =marer
(©) e B . (D) e
Central bank of our éduntry is S i
" (A) State Bank of India - (B) Reserve Bank of India
(C)  Central Bank of India (D) Bank of Baroda
AR AW F FE G R A -
(A)  YRAE Ve &% ' S ARl Rre e
(C) U=e §% 3% gfvegr (D) ¥ 3% agRET

@ 7%

—
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- 59 ¢ : . : -g___l.l.n tl.l':.c..tl_j

The headquarters of Rajaslhan State Cooperative Bank is locatcd at
[A)  Jodhpur : . (B)  Jaipur '
C) - Ajmer . ; (D) ~ Kota -
A)  STE e
C) SR - (D)  WeT
City of hundred islands’ is located in which district of Rajasthan 7
A)  Dungarpur : (B) ' Udaipur i
‘)' Pratapgarh (D)  Banswara

1 ZTgET T I’ W%%ﬂfﬂﬁﬁf@:ﬁ%? Gt
I gIEC - (B TER e L e
C) WUdWTe : : {ib EITHEII?_;T- : - 2
/hich of the followmg iribes of Rajasthan has been mcludcd m the hst of i |
e rimitive tribal group by Govcmment of India ? ' , e |
’F\). Bhi) ey | (B) . Saharia
IC) Garasia (D) Meena
Wﬁ%ﬁﬁﬁﬁmﬁﬁwmmwmﬁwﬁ@
T enier feran W% Do A ‘
h) e TE R B WA
C)  TRIEET : e (D) - Hog
¢ largest sweet water lake in Rajast.han sy _

Jaisamand oo {B} Rajsamand

Kayalana (D) ‘silised
EECR RO E T
E} R L S R R TSI
p e (D)  foeirts
ajasthan is the largcst producer state of which of the fo!lowmg crops in Indla ?
L] Maize @ (B) Groundnut e

Tear Hofe—

0 B M B i M e s Gt

=

i 0 R

T e~ Rt T —

;\_ .'_
[

=
¢

i ._:j.ﬁ..;
i 0 il

C) Mustard (D) Cotton - -
Wwﬁﬁmﬁ@ﬁﬂﬁwwwmmm% ?

) HT . _ (B)  Hwel

) i S

fhich is the best means of explammg the shape of the earth ina classmom e : .
) Globe r_ B e T il
) Diagram (D) Chart : . |
wwﬁqﬁaﬂa@ﬁaﬁmuﬁ%ww%? e -
y ‘Fﬁa (B) AR ei

Illllllfllw. - _ | : _ Pro;
I

mpril
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101.

102.

103, 1

104,

105,

‘Which states army did Doon.1 and J awaharjl ﬁght agamst 5

(4 Bikaner and J odhpur " -(B) . Bharatpur and J odhpur
(C) Bharatpur and Bikaner ' * (D) Udaipur and Banswara
@ﬁawﬁ%%@ﬁﬁ%mwm Pl
) SRR o SRR (B) Wasﬁugt
AR ASHHR (D) SR 9 SEEE
Who of the followmg remluhonanes assumed the pseudo name Amardas _

Vairagi’ to avoid arrest ? _ :
(A) Aljunla] Sethi 2 (B)  Pratap Singh Barhath
(C) ~Kesari Singh Barhath (D), Jorawar Singh Barhath

ﬁrr:rﬁ@%&rm%@rﬁﬁmwﬁﬁﬁﬁ%fm am‘q'raawi‘r wwﬁmw
far 2 -

(A) aij:i?ﬂt_'f'éaof < FIF[W&%’W

; Whmh revolutmna.ty of Rajasthan was mpnsoned in Tlhar Jail ?
(A) = Arjunlal Sethi : (B)  Gopal Singh Kharwa
(C) Kesari Singh Barhath "~ (D) - .Pratap Singh Barhath

ORI % o ShITToRRT Bl foeTS Siet H TEr T e 2
(A)  ITSTTATS Wel {B} Tiurer fife e

(©) % [ aEs ﬂﬁrtlfa‘ef SRES

Who among the followmg were in the Chandaval Squad of Maharana Pratap in
the Battle of Haldxghatl ?

1. Purohit Gopinath 52 Ra_na Punja. -
3. Jaimal Mehta 4, Hakim Khan
5, Charan Jaisa | e Krishnadas Chundawat |
qA)s 12 3 i @ 2345 :
(c}'2356'."' = 9 03,5
ﬁﬂ%@ﬁﬁ@fﬁ?{ﬁﬁ"ﬂlﬁ%ﬁ@ﬁw quﬂ?ﬂqmm ?ﬂﬁﬁfﬂﬂﬂ_rﬁ ?
3 Wﬂw e g ﬁﬁﬂ@
e Wﬁ?ﬂ 6. FIENH YgEA
W 128800 S s s
© 2,856 L R 1255

WhICh of the follomng Chhams is cons;dered as the largcst Chhatrl of -
Shekhawati '9 : :

(A)  Chhatri of Ramgopal Poddar B) Chhatri of Kalyan Singh

(C) Chhatri of Hardayal Singh (D) Chhatri of Gopal Singh

& diresult.in Whatsapp 9352018749
Q,,”.mmwwﬁ - c
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Frfetad fr@' e Bl ﬁﬁ@ﬁlﬁﬁﬂﬁ‘éﬁ?ﬁ@ﬁﬁﬂww% g | ':
(A)  TEFNITCT USSR H SR (B) e & o Sl ' ;vg_
(©) &= e =t o (D) e e e e
The principil’e of curriculum which emphasizes on ‘learning by doing’, is _?f"' }—~
(A)  Principle of motivation .= (B) Principle of broadhess | S _—f_
(C)  Principle of activity. : (D) Principle of utility. ! 5 i e )
rewsEr o o g o ‘e Hied’ I S S I S, TE E ; I F]
(A) SRR T R (B) =AMeha W ST | | ¥
© Tra=fagm - (D) SWEiE e fgea Hlllgd
The direction of trade winds in northern hemisphere is : S 'k
(A) North East to South West (B] South West to North East ;
(C) South East to North West - (D) North West to Soutljx East b
T e F SARe Te! % e B Senei e ' b
(&) IR 9d @ o afvem (B ﬁﬁ?wvﬁaﬂﬁaﬁrqé )
(C) ST ge § IW UR9A (D) IR GfRer @ T g -
The maximum distance between the sun and the earth is called : F)
(A)  Perihelion S i {B) Perigee r
(C) ~'Aphélion (D) Apogee
Y Ue geEl & Wed ey X Feetil & - = 1
Ay IEER e . K
(€ S9ER D) T o .
In a food chain a ‘rat’ comes under the category of : o 3
(A) primary consumer (B) secondary consumer E\\T
(C)  tertiary consumer S (D)” producer e | E“
a gEer o e e S0l e, w e - %:
(A}f wefie Sudier ®) feias o -
gl SUHT (D) SRH {
Whleh of the following statements is correct ? b
(A) The direction of the wind® in a cyclone in the northern hem1sphere is . '
- clockwise _ = ke : ) 3
(B) The direction of the wmd in a cyclone in the southem hemxsphere is .
anticlockwise

(€) The direction of winds in cyclones on the earth’s surface is both cloek\mse : i
- and anticlockwise e '

(D) The direction of winds in cyclones on the earth’s surface is only
o anticlockwise : 1nd1resu1t in whatsapp 9352018749

(ﬁmmm ULIE | | _P.T.O..'_
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50 @mmnsu
e

A) wﬁﬁa@ﬁaﬂaﬁwaﬁﬁwuﬁﬁqﬁﬁﬁwﬁﬁ%

B <o et 2 e e 5 e o g Y e 3 ol il &
©) e % FeE T e A e ) e ue) W g e v e g

fecem & foralar, ST &1 femmedl = it &

'_{'D) ﬁﬁwmmﬁmﬁmma@ﬁﬁéﬁﬁwéﬁﬁﬁﬁﬁ

111

1112

L

How many members are nommated by the Governor in the State Leg1slat_we
- Council ? : '
@ 13 = . B 1;‘12
© 1/9 D) 1/6 '
‘Wﬁmqﬁﬁﬁwmﬁﬁ#mmnﬁmmm% 2
@ 1/3 | ® 1/12
CHC: T e . D) 1/6
The ﬁrst Deputy Speaker of the first Lok Sabha in mdependent India, was
(A) Sardar Hukum Singh (B) S. V. Knshnamoorthy Rao
Q) Anant Shyanam Ayyangar D) G G. Swell
'Wwﬁqﬁ?ﬁ?ﬁw%ww&m
(A) wwﬁﬁ ' B) qva”rgmmﬁm
(C) 3T YETH AN kA (D) SIS W|E
Who is ‘the m—charge of the ‘Voter Reglster at pollmg statlon during pollmg in
~India ?
(A)  The -ﬁrst-Polling Officer (B)!' The secpnd Poﬂmg Ofﬁcer
.(C)  The third Polling Officer (D) = The Presiding Officer

Wﬁw%ﬁmnﬁmﬁw namﬁrrﬁraw aﬁrmm‘ﬁﬁm% Ze

qA) e RS SR | fiefrer e S
(@ T HeR SR .(B) S R

114.

115.

In wh.lch form of the Government the executive is responmble to the leglslature ? ', :

= A Pa:hamentary Government  (B) Presidential Government
"~ (©) = Totalitarian Government (D) Military rule .
mwmﬁmﬁmmﬁmﬁ% 2
' (C) lqa’rﬁlmﬁ WHER (D} Y R
Wluch one of the following is an example of knowledge obgectwe
(A) Explam ' - (B) Construct
(C)' | Defme =" . L r (D) Analyse '

@

M MMM e Sult " Whatsapb: .93520.18.749



indiresult.in Whatsapp 9352018749

TO OPEN THE OQUESTION BOOKLET

- :
& -1 T S amm%" 2 Sy °
e B EAWEE ii-iem
RonfE e (D) oSO AT | “;5_
ational Voter Day’ is celebrated in India on : =
25th January : (B) 25th March =
p5th September (D) 25th November o
T AT e T ST @ | =
25 e - _ . (B)  25HE : | i
o5 fgasR S (D) 25 TR 2
ulture and Irrigation’ are meluded in the list of the Constltutlon of Indla RS A‘_
L is . ' L__
the Union list e A8 the State list- ﬁﬁ
the Concurrent list (D)  residual subjects, = - o
ﬁeﬁwﬁmeﬁ\wﬁ &y g R’ 1 SiMfHeT o9 T 8, O § i
e | (B) T el - o
r which Article of the Constltutmn of India, the Supreme Court has been. ;-—
 place as the ‘Court of Records’ ? - £
1129 | ‘(B) 130
p137 (D) 143 ° r—“
Héﬁ_ma{iﬁ}ﬁ%wﬁmﬁ—dwaﬁ aﬁqﬁew Eﬁi@:ﬁﬁm —
 ? | =
129 = pod (B) 130 5
137 () 148 _ A
.r which Article of the Constitution of India, executive power of the union is ] %4
d in the President? = - : _ ;:
Es3 o ilB) oA ; ; G . %L_
' (D) 56 | ]
meﬁuﬂ%ma@?%mwﬁﬁ@aﬁw&ww&%ﬁ i 4]
% 2 , ' e
53 _ W )
' 55 (D) 56
pter 2A of Ra_]asthan Panchayat Raj Act, 1994 provides the formation of ‘;
" Gram Panchayat : (B) Panchayat Samiti : . it e
' Zila Parishad (D) Gram Sabha - o
BT TR ST U, 1994 % ST szfﬁea%mﬂaﬂm% "W
mﬁ ti'rmﬁ < ' (B) U= |Gl

(D) T FHI indiresult.in Whatsapp.— 935201874;?'_
: o 1.0,
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121. What is the lp'roposed National Ass_essment Centre_ named in the National
Education Policy, 2020 ? : ;

(A) DIKSHA . = (B) NIKHAR

%UI suta | .

D

() DisgA (D) PARAKH
WW% zozoﬁmﬁamméﬁﬂwwﬁmw% ?
() e _ a B) @R
_(C}ﬁf?"..-_ D) T o
122. When was ,the ‘CALP’ programme initi_afed in upper primary gchools in
- Rajasthan ? :
~ (A)  2007-08 : (B) 2010-11
[©) 2015:16 (D) 2004-05
Wﬁmmmﬁww&mmmwwaﬁgm ?
(A): 2007-08 ~ (B) 2010-11
(C) 2015-16 e (D) 2004-05

123, When was the obJectzve resolution’ accepted by the Constltuent Assemb_ly as
presented by Pt. Jawaharlal Nehru ? '

(A)  December 9, 1946 | B) Decanherla 106

{C) January 22, 1947 (D) ~January 26, 1947
_;‘{.Wﬁﬁmmﬂ%ﬁ oI aﬁuﬁuﬂmmﬁww
™2 =

(a) ofwE=R, 1946 B 13&@3!1, 1946

(C) 22 FEY, 1947 (D) 26 SFERI, 1947

124. The ‘nght to: Educauon was made the part of which Fundamental Right by g86th ~ 1
Constitution Amendment Act ? ' :
(A) Right to Freedom ; (B) nght to Equality"
(C)  Cultural and Educational nghts (D) Right against Explmtatlon '

86 3 Wi GegE AT g ‘v & SATUHER’ ﬁmﬁmmaﬁfw_

AT § 2 _

(A) T T AEBR ( ) T SRR

© ot wel i & AMER v % foreg SIS

' 125. 'When was the Protection of Chlldren from Sexual Offences Act’ enacted in

.India ? ! o '
(A) In2010 (B) In2012

(C) In2014 (D) 2016

uRe o ﬁﬁﬁa:rqmﬁﬁamaﬁamwam arfufgs’ e ST Tl >

(&) 2010 : (B) 2012

(C) 2014 _ (D) 2016
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In which state Durgadas Rathore s Chhatn is situated ? : Hike £
{A}--, Rajasthan s B U Pradesh 1&4
{C) Madhya Pradesh ; (D) -(_}u_ja.rat ' | g;
HERIEC afrzmu mﬂwﬂrﬁ?&lﬂ% v &L
W) T . (B SREA ]
(C) mHWH _ (D) T il
In which area did the Chawand painting style 'd_evelo.p. ? b
(A) Mowar (B) Haroti o | 3T
(C) Marwar ' . Dy Shekhawatl e ' : ' f"f_
SlEk %ﬁﬁﬂ?ﬁwﬁmmmﬁ@n? = e ma
(A)  HeTs | Con R e | o
(c) TNEIE . L o _ s d
Smt. Kishori Devi was associatédwith Which peasant movement ? b i | 3
jA)  Barar- 1o o (B) Sikar -
(C)  Bijolia LD e '
P}ﬁq‘ﬁﬁiﬁﬁﬁﬁmmﬁdﬂrﬁMﬂﬁﬁLﬁﬁ@7 =
i(A} e | B) W . fias e S
C) frsiiforar e - (D) ST - B ! e
!n whiC:h part of the body is the ornament ‘Bajatti’ worn 2 : | i : I ' _ }
IA) Nose g 3 (B) =~ Teeth | : : _ | i S
;C) Bar (D) Neck o e | J—
aﬁaﬁwww%%mwﬁwﬁmw%? o - Ey
T i 0000 ' .
om0 e 0 E W
Edward Thorndike ( 1898 ) is famous for which principle i Educational g
?A] - Memory theory = . = '." (B) Forgetting ﬂi'eory i |'*
C) Learmng theory . . (D) . Adjusting theory ; l
ssqs dierEe (1898 ) I e Wﬁ%ﬁﬂ?{ﬂ feney lﬂo&lrd o fow <7 =TT ‘%' 7 e
Rﬂﬁ@fr T ‘F-F@Ff - | {D) HHM\M*! e e A ol e
thch of the fo]]owmg decades reglstered negative population growth i in Indla 2 e
h) 190151011 v i Lol R g
ZCJ-- 1921 - 1931 i (D) 1971 - 1981 e e I

1nd1resu1t in whatsag)p 09352018749
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e Grorsan

ﬁmﬁﬁﬁmwﬁwﬁquﬁmﬁﬁs ?

(A) 1901 -1911 el RS 10Y T 60
(C) 1921 -1931 _ (D)’ 1971 - 1981

132. Which of the follomng is the oldest iron and steel company in Indla ?
(A) TISCO fi2: (B) IISCO
(C) . VISL = (D) -SAIL '
ﬁmﬁﬂaﬁqmﬁammmﬁﬁaﬁﬁmw% ?
(A)  TISCO : (B) 1Sco
(C) MIBL ;iiis s o (D) SAIL |

133. Tht, correct order of locatmn of ngen phy§1ograph1c features from north to
south i s : :

(A) Tarai— Bhabar Khadar — Delta

(B) Tarai — Bhabar — Delta — Khadar

(C)  Bhabar — Khadar - Delta — Tarai

(D) “Bhabar — Tarai — Khadar — Delta

ﬁﬂ%ga@&ﬁrmwﬁwmﬁmﬁaﬁrwuﬁm%
() TE — 9 — WEY ST

(B) RIS — WK — SR — WY
(O T — TR — ST — R

(D) . R — TRE — TR — ST

134 Which state is the largest producer of Gypsum in India ? .

~ (A) Rajasthan -~ . ° : " (B) Guijarat
(C) Jharkhand 2 sagesib) Madhya Pradesh
wﬁmnmwﬁamwmﬂ?—m% 2
(4) ST - (B) W
€ wREUE . D mEwE .
_ 135. Zanskar river is used for lrngatmn and power generation in which reglon ?
. (A)  Arundchal Pradesh =~ (B) Sikkim !
(C)  Ladakh st (D} Garhwal—Kumaon -
(A)  STEUITEE VR = (B}_ : ﬁqﬁaw'rr
(C) - wEmE - | (D) TG-S
136, ‘When did Chaun Chaura mmdent take pléce ? 5 .. _ e
(A)  January 1922 = S (B] Febiuary, 1922 '
(©) November 1922 , D) April, 1922

(666 | 1nd1result in whatsapp - 9352018749

¥YOUR SUCCESS PARTHNER

@mmwwma



135,

@m PIRESYME

i : indires{llt.in whatsapp - 935201874_9
132,

133.

“136.

O NDIRESU '—T%‘z

vﬁmﬁ@mwﬁ mﬁwmﬂ@rqﬁﬁﬁﬂ: ?

(A) 1901 -1911 | e (BEE 1911 241921

(C) 1921-1931 (D) 1971 - 1981

Which of the followmg is the oldest iron and steel company in Indla ?
(A) TISCO | (B) 1msco

(©) =yisL = (D) QAT
ﬁmﬁﬁﬁqmﬁamwmﬁ@ﬁﬁm% ?

(A) - TISCO - (B) 1ISco ;

(C) MISL =i e (D) SAIL

The correct order of locatmn of glven phy§1ographlc features from north to
south is

(A) Tarai — Bhabar Khadar — Delta _
(B) Tarai— Bhabar — Delta Khadar
(C} ~ Bhabar — Khadar - Delta — Tarai
(D) "Bhabar — Tarai — Khadar — Delta

ﬁﬂ?ga@hﬁwwﬁmﬁwﬁaﬁaﬁwuﬁm%

_(Amwam@m

(B) RIS — H&T — ém_@m

(© wq@ﬁtméﬁ’r—ﬁﬂs
(D) - WER — TRE — @Y — o2

134,

Which state is the largest producer of Gypsum in Indla P

(A) Rajasthan - - . - - (B) Gu_]a.rat
(C) Jharkhand . wanf{D) Madhya Pradesh
Wﬁﬁtﬂqﬁfﬂaﬁﬁ?mwﬁ?—ﬂ?% 9.
(A) TTEE ®) TR L
© wwEvs O FEwE ane
Zanskar river is used for n'ngatmn and power generation in which reglon ?

- (A)  Arunachal Pradesh f o (B) Sikkim g

 (C) Ladakh B ) Rl kuniion

' Wﬂﬁwwm@ﬁqﬁm%ﬁmmﬁmm% 2
(A) Wnﬂw . _ -(B;_.fvﬁa?q
(C) vERE ; | (D) TRE-$HS
When did Chaun Chaura meadent take place ? : .. . :

(A) January, 1922 e (B.)' February, 1922
(C) November 1922 ) Apnl 1922

1nd1resu1t in Whatsapp 9352018749
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(A) ST, 1920 (B). &
(C) TR, 1922 (D) i
Which ruler of Alwar appointed Pandit Harinarayan Sharma as his advisor ? ;
(A) Udai Singh (B) Jai Singh - 2% =
(€)  Ram Singh (D) Man Singh !‘ l
rﬁﬁ__mw_ﬁw%%ﬂwﬁm'mmﬁgmmm L]
(A) SERE (B) TG £
C) e (D) e =

human beings, religion is neither in the books

A)  Raja Rammohan Roy
C) Swami Vivekananda

&gmﬁwmf‘eﬁ“aﬁnﬁm
i 7 s gt 37 5

\) ST OHHERT g

) T e

b (D) SEEEE .\
fho is called the first poct of the deprived class of India ?
) Dadu ' B  Jayanak | e e W
) Ramdas S (D) SChokhamela =~ ) S
: %dﬁaaﬁwmﬁmww%? ' ]
) IR (B) \—,-[z;-,:’—q,r- : ___,L_
) TR (D) =REHer $
fich ruler wrote a letter Opposing Aurangzeb’s imposition of Jiziya tax ? : ;—-—
I Raj Singh _ (B) = Jaswant Singh i i
b Man Singh : (D] : Durgadas Rathore - _ S i
iﬂﬁamﬂﬁwmmmﬁwmw#w%@aﬁﬁﬁu%mg | gt

WEIE ' | “(B) e fgw 7

Alagoja (B) Bhapang . SO i e
![ Ravanhattha ; . > (D) Tax;doora | - s | : '; %:' ;
e 5 8 e orer 3wt = e S o S
om0 o
TR, (D) T

@ INDIRES

e -

(D) Dadudayal

%ﬂﬂﬁtﬁ%ﬁéaa?ﬂfﬂm% T A g o
(B) WSS awEd .

(D

B |

) TS eie

|
|
lich of the following musical instruments is like a flute ? U : s |

o

TO OPEN THE OBt ——————
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142

143.

144.

Whmh one of the following pairs is correctly matched ?

Maha_;anapada it ‘Town:
.(A) Gandhara : . Mathura
(B) Anga ' . e - U_]_]aln '-
(©) At ' | : Sotthavati-
(D) Kémbojé 7 . Rajpur
| FrAfetEa § | HE-A % el GHierd ¢ ?
(A) &R - & TRRT
(B) ST 5 s
(D) SIS . IR
‘The Bhandadevara Temple is located in which dist_ric.f-. P
A B (B) Kota
) Bawes - o . (D) ' Jhalawar
wugdery T frw e o R & 2 Loaea
W (B) e
© SR i S (D) SIS

Consider the following statements about Chand'rag_u'pta Maurya :

1. . He married the daughter of Selcucd‘s :

2. He accepted Buddhism' in the last penod of. hIS life

3 He made Ashoka his successor
Which of the statements glven above is / are true.?.

(A) . Only 1 (B) Only2

(€12 .. 12,3

Wﬁm%aﬁﬁmmﬁf@ﬁmwﬁaﬂﬁﬁﬂq
1 3O Heahd Sl B % i e TR
5 wﬁmvﬁaqaaﬁnwﬁaﬁaaﬁx&ﬁmﬂm
5 memmﬁzﬁrﬁm =
ST el A O /A wele/s 2

.(A}_ é‘n—clc—rll s (B T2
_ | B 123
B ~ indiresult.in whatsapp - 9352018749
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Consider the following statements about Ashoka’s inserip :
) . Most of the mscnptmns are in Prakrit language ; g :
2. Most of the mscnptlons are in the Brahmi scnpt % é_
Which of the statements given above is / are true ? ol
(A) Only 1 _  (B) Only2 ; '“h"
(C) Both 1and2 ' (D) None of these s - L1

asﬂes%aﬁqﬁ@%aﬁﬁﬁm%ﬁaamwwm e 0
L AR sifheiE T A | ]

2. e sei el s & § o liew
sqé?ﬁmﬁ@aﬁwwﬁm#ﬂﬁ%f%? | e e N
A Faer1 ; (B) Hae 2 TG ‘ Y -
€, 18RaeH - (D) T W A ' ' %
Which of the fo]lowmg Indus-Saraswati civilization sites are located in Pdklstan P iy

T Mohenjodaro ; 2w R RO ' __b_

3. Prabhas Patan ' 4.  Alamgirpur e

.- 5. Chanhudare: o & G 1
AL A5 8E o . B) 1,2,4,5 ]
=gc) 1,256 D2 3 4 )

Fﬂgwﬁrwwﬁaﬁqaumﬁﬁﬁ%g?

3. TR 4. HEWIRER i

5. ‘Tgeet ‘ - 6. IS 3
(A). 1,3,5,6 ge 0 Ty
ol 1 258 : By 1,2,3,.4 . | ';
i'T‘he great mathematician Brahmagupta was bom in which district of Rd_]asthan s :
f(A) Jalore e (B) Churu : _Ei_
[C) Sikar ' (D) - Bikaner ]
Wnﬁmwwmw%ﬁmﬁaﬁwm -
) e - B T T
o) w0 .

Consider the following statements about the Vedic period : | J
Eoa ‘Grihastha Ashram was the feeder of all other Ashrams - = , R

2 The village officer was called ‘Gramani’ -

3. The merchant class was called Vish’ : . o
W}uch of the statements glven above i is / are. true ? : ' &

A) Only1l - (B} 1,2 jndiresult.in whatsapp - 9352018749 &
fC) 1.9 o (D). 100 : : - =
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1] | il ! . 76. | : @ M lREﬁ?UL'

%&aw%aﬁﬁﬁwﬁ@amwwm.
1. TS IS 3T Wl TS| T 9N AT
o W%aﬁmwmwmm )
3, SR o st ‘fowr’ wer S ar -

Wmﬁﬁﬁ?m/ﬁaﬁ%ﬁ? :

(A) éh_c[F-I It (B)
) = ey 1,23
149. Where was the branch of Ramsnehi sect estabhshed by Sant Dariyavji ?
() Shahpura _ - (8) Sinhthal -
S Rain o - (D) ~Khedapa
.wﬁmﬁmmwﬁwwwﬁaﬁﬁ 2
(A) R o _ B) e
(€ e (D) Tem

. 150; Cons:der the following statements about Mahaveer Swami :

ks He was born in Lumbini
2, His childhood name was Vardhamaiia
3. His mother’s name was Mahamaya -
4 He was the first Teerthankara of J ainism -
i Whlch of the statements given above is / are true ? -
(A) Only2 o B 2,3
WMO) 0,2 D) 1,4
TR el & SR 1 Fefaled ®eEl W feEr S
! 1. 3R S sl H gl
2, Ik SO I A SR T
3. SFhI HTAT T AH HeTHE o
4 A wmAdees _
e FE A I IRR/A G 2 Ll

A) - el 2 - L 3
. (C) 5 .2 . : (D) 1,4 oA
6’?'|ND| TE ~ indiresult.in whatsapp - 9352018749
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